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HPPE ¢ 100mmBckEHMIRT HESFHES
‘&F&- O7% HPPE ¢ 100mmIE £ L=110.891m(110.459m)
R U H=0.70m~1.00m NO. 1
B 4 R
T £ FBRTE By s B sHE B Z
H#
EFAZEE HPPE ¢ 100 X 5,000 | & 18|  5.000 18 x  5.000 = 90.000
UIERELY
EFEZEE (UE) HPPE ¢ 100 X 5,000 = Z& 3 5000 11.370 = 11370
EFAVMN (523 HPPE ¢ 100 x 45° & 4| 0.380 4 X 0.380 = 1520
EFA'UN (F2E) HPPE ¢ 100 x 45° & 7| 0.490 7 X 0.490 = 3430
EFA'UR (323 HPPE® 100x22 1/2° | {& 1] 0.390 1 X 0.390 = 0390
EFYfyh HPPE ¢ 100 & 4 - 4
PERO{THHRNTFE $100x ¢ 75 & 1/ 0790 1 X  0.790 = 079
GF
PERFEOMISUUEE ¢ 100 & 1] 0.460 1 X 0.460 = 0460
PEHE D fY7by— ML 805 ¢ 100 = 2| 0.860 2 X 0.860 = 1720
Dy A LY EYHELA)
THKEITFE ¢ 200 X ¢ 100 & 1] 0.889 1 X 0.889 = 0889
VPA (775¥)
THKEITFE ¢ 100 % ¢ 100 & 1] 0322 1 X 0322 = 0322
VPH
THKE ST F ¢ 100 & 1 - 1
susa7 ¢ 100 & 1 - 1
VPH
MzhIE g ¢ 100 & 1 - 1
EEERBEESR ¢ 25 e 1 - 1
FCD& L' -zt RS EMA GF 7.5K
"B IE S ¢ 75 % 150H = 1 - 1
7.5k
WIEFAI7VY HRER ¢ 100 #A 1 - 1
7.5k
WIEFAI7VV HRER ¢ 75 #A 1 - 1
¢ 75-7.5K TF
IV A GFfigh' RrybsuUS304-BN | H 1 - 1
¢ 150-7.5K F&
IV EEM RFFSH RrybSUS304-BN | $R 1 - 1
¢ 100-7.5K Figg
170V FH RF-GFERRH A9 | 1 - 1
19VE ¢ 150 & 1 - 1
AR5
oIS AKE T ¢ 250 & 2 - 2
LU AR ¢ 250 X H100 & 2 - 2
LT
HEIFRAVY VR YR ¢ 250 X H150 & 2 - 2
ER
HEIFRAVY VR YR @ 250 X H40 & 2 - 2
MR35
ERIFAKE ¢ 500 " 1 - 1 TR
L&
ZRFMALY IVE VIR ¢ 500 X 200 & 1 - 1 e
;]
ZRFMALY IE VIR ¢ 500 X 200 & 1 - 1 T
ER
ZRFMALY IVE VIR ¢ 500 x 40 & 1 - 1 ZRFH
BEEER = 110.891
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HP P E ¢ 100mmickERRT HESHES

&M LY H=0.70m~1.00m NO., 2
E 4 R A
T £ FBRTE B % & BEHE m_ %
A-TR EBEE EER
2ERER)-7 ¢ 100/ m 146.4 110891 x (60 x (1 + 01) ~ 500 = 146.376
100mY
RBEHER)-T AT m 67.9 110891 x 612 100 = 67.865
TUH ERHFTFE)
EHRT-7 HPPE ¢ 100/ m 108.4 110891 — 1720 — 0.790 = 108.381
‘HUH ERHFTFE)
TRV TLE 87 W=150 | m 107.9 110459 — 1720 — 0.790 = 107.949
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HPPE ¢ 100mmBckEHMIRT HESFHES
&FE - 0% :HPPE ¢ 100mm3E £ 1L=110.891m(110.459m)
R U H=0.70m~1.00m NO. 3
B 4 R
T £ FBRTE By s B sHE B Z
FHHE
BEEER T
FYIFLUEMRT (FhE) ¢ 100 m 109.2 - 110.891 - 1720 = 109.171
AZEE EFAUNER EFAVN R
FYIFLVEMF I (RAE)| 010001 O#F) |&FF 37 - 21 + 4 x 2+ 8 = 37
EFYry bl 52
FYIFLVEMF I (RAE)| ¢ 1002O0#F) | &FR 4 - 4 = 4
170V RFL ¢ 150(7.5K) [m] 1 - 1 = 1 I0VE
130V MFET ¢ 100(7.5K) [m] 1 - 1 = 1
10V MFET b 75(7.5K) [m] 1 - 1 = 1
VP&
MIhVEF T ¢ 100 a 1 - 1 = 1
770V FESLT ¢ 150(7.5K) m} 1 - 1 = 1 IV E
YEAELY
FYIFLYE YT ¢ 100 a 7 - 7 = 7
SBHALUIFEET ¢ 1004t &) e 2 - 2
A5
OIS ASSENRET ¢ 250 & 2 - 2
T FARVIREET ¢ 250 x 100 1@ 2 - 2
LT
TEUFARVIAZEL ¢ 250 X 150 & 2 - 2
ER
TEUFARVIAZEL ¢ 250 x 40 & 2 - 2
M35
ERARBE[REL ¢ 500 & 1 - 1
L&
ERAATVIAZEL @ 500 X 200 & 1 - 1
;]
ERAATVIAZEL ¢ 500 X 200 & 1 - 1
ER
ERAATVIAZEL ¢ 500 x 40 1@ 1 - 1
HBHSE
THIKERT $200x $100 | EEFRT 1 - 1 = 1 FAET
BEE
THIKERT $100x $100 | R 1 - 1 = 1 FAET
THIKE S HFHRET ¢$ 100 BT 1 - 1 = 1 FRET
SUSITH#EAL ¢ 100 G538 1 - 1 = 1
RBEERA-TREL ¢ 100 m 1109 - 110.891 = 110.891
BEHRT-7IAGT HPPE ¢ 100/ m 108.4 - 108.381 = 108.381
T AT
BRI W=150 m 107.9 - 107.949 = 107.949
(Bt EEE]
EKEHERT HAKETE m 1109 -
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HP P E ¢ 100mmickERRT HESHES

&M LY H=0.70m~1.00m NO. 4
E 4 R A
T £ FBRTE B % & BEHE m_ %
1 THERES
TEEE
+IT® AE H=0.7m m 21.7 - 21.7 21.7
TiESE
+T@-1 AE H=0.7m m 84.5 - 84.5 84.5
iESE
+T®@-2 AE H=1.0m m 43 - 43 43
TEEE
10 BEE&DIP H=0.6m m 1.1 - 1.1 1.1 K
iESE T2
+tT® BEE&VP H=1.0m m 1.1 - 1.1 11 UK
iESE
16 BEEXVP H=10m | m 1.5 - 1.5 15 TR




#A3

T I % 2 % B =
No. 1 NO. 1 TTD NO. 2 +T@-1 NO. 3 +T@-2 NO. 4 ENE)] NO. 5 TT@® NO. 6 ERNG)
207 -wE L | 845 -mEEL | 43 -mEEL | 1.1 -E&L | 1.1 -EEL | 1.5 -EEL
£ 3 ) % 21.7 84.5 m 4.3 1.1 1.1 1.5 & &t BE

AsEhEE R

SEYMT t=15cmLLF m 2.00 43.40 2.00 169. 00 2.00 8.60 4.90 5.39 5.10 . 61 5.40 8.10 240.10 240
Coff %R

SEYIM T t=15cmLLF m
AsEh R

SERRIEFET |[t=10cmiA T m2| 0.60 13.02 0.60 50.70 0.60 2.58 1.49 1.64 1.60 .16 1.80 2.70 72. 40 72
Cofh £ i

SHEMRBER T |t=10cmLl T m2)
BHO. 28m3

A PRI T BBt - MBS m3]  0.47 10. 20 0.48 40. 56 0.66 2.84 1.70 1.87 2.36 . 60 2.40 3.60 61.67 60
BHO. 28m3

HHIERT By B [m3)  0.19 4.12 0.19 16. 06 0.19 0.82 1.18 1.30 1.14 .25 1.01 1.52 25.07 30
BHO. 28m3

HHIERT 2B FE+ [m3]  0.15 3.26 0.22 18.59 0.40 1.72 0.22 0.24 1.07 .18 1.21 1.82 26. 81 30

TrERET RC-40 t=20cm m2|

TrERET RC-30 t=10cm m2| 0.60 13.02 1.49 1.64 14. 66 15

TIERET RM-30 t=12cm m2| 0.60 13.02 1.49 1.64 14. 66 15

TIERET RC-30 t=10cm m2| 0.60 50.70 0.60 2.58 1. 60 .16 1.80 2.70 57.74 58
BAEFEHAs13mm, AR

PR {R{EH t=3cm m2| 0.60 13.02 0.60 50.70 0.60 2.58 1.49 1.64 1. 60 .16 1.80 2.170 72. 40 72
A ABAIAS13mm, HEHK

BREAEIE t=3cm m2
A FEHAS20mm, HEH

BREAEIE t=bcm m2
4tDT

HELWHT EAAH TR m3] 0.36 1.81 0.29 24. 51 0.29 1.25 1.64 1.80 1.43 .57 1.32 1.98 38.92 40
4tDT

HELWHT TEiAA  TAI7hbEE |m3]  0.03 0.65 0.02 1.69 0.02 0.09 0.07 0.08 0.05 .06 0.05 0.08 2.65 3
4tDT

RIS T EAA  2vhY-b5% [m3

ZAE TAI7h 5% t 0.07 1.52 0.05 4.23 0.05 0.22 0.16 0.18 0.12 .13 0.12 0.18 6.46 6.5

ZA Y- ek t
mil £m|;

BEMAIRT [H=2.Om m .10 1.10 1.1

REROKE LSS R = REHH




¥=K5

T I &% E M B E
No, 1
i s = 1L 1A L= 21.7 m
Brigis Bk = B #EE  $ 100 H=0.7m
gERlE = 0130 X 0130 X x  / = 0.013 m3/m
Fag = X X z [/ =
Im2%9
%5 i H = o & i =
IR T
AsEFLER t=15cmIL 1.00 X 2 m 2.00
TAEI R 1
AsEFLER t=10cmId 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
- A - FEE - 1.00 X 0.60 xX( 0.83 — 0.05 ) m3 0.47
HEREEEE T, BHO.28m3
KONGRS AR 1.00 X 0.60 X 0.33 — 0.013 m3 0.19
RS T, BHO.28m3
SN A 1.00 X 0.60 X 0.25 m3 0.15
FE B T (RC-30)
t=10cm 1.00 X 0.60 m2 0.60
/BB T (RM-30)
t=12cm 1.00 X 0.60 m2 0.60
BT H (A #57As 1 3mm, A7)
t= 3cm 1.00 X 0.60 m2 0.60
FEL R T DT el WAL
FFAS 1 0.47 - 0.15 = 0.90 m3 0.36
FEA G T 4DT
FFAZ TR 7R 1.00 X 0.60 X 0.05 m3 0.03
ZAE
FAT 7P 0.03 X 2.35 ¢ 0.07

LERKELEESEREA=IREHHR



¥=K5

T I &% E M B E
No,2
Brm#Es = 1 T2-1 L= 84.5 m
Brigis Bk = dnEAaE ¢ 100 H=0.7m
gERlE = 0130 X 0130 X x  / = 0.013 m3/m
B = X X / =
Im2%9
%5 i H = o & W =
IR T
AsEFEER t=15cmIL 1.00 X 2 m 2.00
TAEI R 1
AsEFLER t=10cmId 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
LB A B A 1.00 X 0.60 xX( 0.83 — 0.03 ) m3 0.48
HEpE RS T, BHO.28m3
KONGRS AR 1.00 X 0.60 X 0.33 — 0.013 m3 0.19
HEpE RS T, BHO.28m3
SN A 1.00 X 0.60 X 0.37 m3 0.22
LB REAE T (RC-30)
t=10cm 1.00 X 0.60 m2 0.60
BT TE H (A 457 As 1 3mm, A7)
t= 3em 1.00 X 0.60 m2 0.60
FEL T 4tDT el WAL
FFAS 1 0.48 - 0.22 = 0.90 m3 0.29
FEAHG T 4DT
FEHARS TR Wp 1.00 X 0.60 X 0.03 m3 0.02
ZAE
FAT 7/ 0.02 X 2.35 ¢ 0.05

LERKELEESEREA=IREHHR



¥=K5

I &% B ft & E
No,3
BrmEs = 1 T2-2 L= 4.3 m
Brigis B = dnEAaE ¢ 100 H=1.0m
gERlE = 0130 X 0130 X x  / = 0.013 m3/m
= B kR = X X z /J
Im2%9
%5 - o & W =
IR T
AsEFLER t=15cmIL 1.00 X 2 m 2.00
TAEI R 1
AsEFLER t=10cmId 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
- A - FEE - 1.00 X 0.60 X( 1.13 0.03 ) m3 0.66
HEpE RS T, BHO.28m3
KONGRS AR 1.00 X 0.60 X 0.33 — 0.013 m3 0.19
HEpE RS T, BHO.28m3
SN A 1.00 X 0.60 X 0.67 m3 0.40
LB REAE T (RC-30)
t=10cm 1.00 X 0.60 m2 0.60
BT TE H (A 457 As 1 3mm, A7)
= 3cm 1.00 X 0.60 m2 0.60
FEL T 4tDT el WAL
FFAS 1 0.66 - 0.40 = 0.90 m3 0.29
FEAHG T 4DT
FFAZ TR 7R 1.00 X 0.60 X 0.03 m3 0.02
ZAE
FAT 7R 0.02 X 2.35 ¢ 0.05

LERKELEESEREA=IREHHR



¥=K5

T I &% E M B E
No, 4
BrigiE s = 1 TQ (FEAETFE) L= 1.1 (1&pr)
Brigis B = B #EE  $200 H=0.60m
gERE = 0220 X 0220 X x / = 0.038 m3/m
B = X X / =
15771, 1m)245 D
%5 i H = o & W =
IR T
AsEFLER t=15cmIL .10 X 2+ 135 X 2 m 4.90
TAEI R 1
AsEFLER t=10cmId 1.10 X 1.35 m2 1.49
FEr AR 1. BHO.28m3
- A - FEE - .10 X 1.35 X( 1.22 — 0.05 )- 0.042 m3 1.70 =0.038/m X 1.1m/BEpr = 0.042m° /& Hr
HEpE RS T, BHO.28m3
KONGRS AR 1.10 X 1.35 X 0.82 - 0.042 m3 1.18
HEpE RS T, BHO.28m3
SN A 1.10 X 1.35 X 0.15 m3 0.22
TIE S T (RC-30)
t=10cm 1.10 X 1.35 m2 1.49
/BB T (RM-30)
t=12cm 1.10 X 1.35 m2 1.49
BT H (A #57As 1 3mm, A7)
t= 3cm 1.10 X 1.35 m2 1.49
FEL R T DT e+ WAL
FFAS 1 1.70 — 0.22 = 0.90 m3 1.64
FEAHG T 4DT
FFAZ TR 7R 1.10 X 1.35 X 0.05 m3 0.07
ZAE
FAT 7R 0.07 X 2.35 ¢ 0.16

LERKELEESEREA=IREHHR



¥=K5

T I &% E M B E
No,5
BrigiE s = L T@ (R ETFE) L= 1.1 (1&pr)
Brigis B = dnEAaE g 100 H=1.00m
gERlE = 0130 X 0130 X x  / = 0.013 m3/m
B = X X / =
1EP7(1.0m)24 0
%5 i H = o & W =
IR T
AsEFLER t=15cmIL .10 X 2+ 145 X 2 m 5.10
TAEI R 1
AsEFLER t=10cmId 1.10 X 1.45 m2 1.60
FEr AR 1. BHO.28m3
- A - FEE - 1.10 X 1.45 X( 1.52 — 0.03 )- 0.013 m3 2.36 =0.013/m X 1.1m/BEpr = 0.014m" /& Hr
HEpE RS T, BHO.28m3
KONGRS AR 1.10 X 1.45 X 0.72 - 0.013 m3 1.14
HEpE RS T, BHO.28m3
SN A 1.10 X 1.45 X 0.67 m3 1.07
LB REAE T (RC-30)
t=10cm 1.10 X 1.45 m2 1.60
BT TE H (A 457 As 1 3mm, A7)
= 3cm 1.10 X 1.45 m2 1.60
FEL R T DT el WAL
FFAS 1 2.36 — 1.07 + 0.90 m3 1.43
FEAHG T 4DT
FFAZ TR 7R 1.10 X 1.45 X 0.03 m3 0.05
ZAE
FAT 7R 0.05 X 2.35 ¢ 0.12

LERKELEESEREA=IREHHR



¥=K5

T I &% E M B E
No, 6
B s = 1L TO (MK AGR) L= 1.5 (187D
Brigis B = dnEAaE ¢ 100 H=1.0m
gERlE = 0130 X 0130 X x  / = 0.013 m3/m
B = X X / =
Im2%9
%5 i H = o & W =
IR T
AsEFLER t=15cmIL 1.50 X 2+ 120 X 2 m 5.40
TAEI R 1
AsEFLER t=10cmId 1.50 X 1.20 m2 1.80
FEr AR 1. BHO.28m3
- A - FEE - 1.50 X 1.20 X( 1.37 — 0.03 )- 0.013 m3 2.40 =0.013/m X 1.5m/EHr = 0.020m" /& Hr
HEpE RS T, BHO.28m3
KONGRS AR 1.50 X 1.20 X 0.57 - 0.013 m3 1.01
HEpE RS T, BHO.28m3
SN A 1.50 X 1.20 X 0.67 m3 1.21
LB REAE T (RC-30)
t=10cm 1.50 X 1.20 m2 1.80
BT TE H (A 457 As 1 3mm, A7)
= 3cm 1.50 X 1.20 m2 1.80
FEL R T DT el WAL
FFAS 1 240 — 1.21 + 0.90 m3 1.32
FEAHG T 4DT
FFAZ TR 7R 1.50 X 1.20 X 0.03 m3 0.05
ZAE
FAT 7N 0.05 X 2.35 ¢ 0.12

LERKELEESEREA=IREHHR



(HPPE® 100 EFFZEE] UIERE

#=X7

B RS RS RNk FEE = 450 ZHVE = 300
Hob & & 9o .
178 i b33 gy
B B R OS[®mE OBK (B OS|®E OBR|E OS|FE OBR B OS|EE OBK R
® % @ 0
D — t @ > 29m|@ —  s0|@® — 100 4,840 160 3
2,970 160 870 1, 000
©® 7% @
D t t ® >— 2,53 |(®)| — 1,600 4,130 870 2
2,530 870 1, 600
@ 7% ®
D t @ >— 1,500 |(B) | — | 900 2,400 | 2,600 2
1,500 2,600 900
[HPPE ¢ 100 EFAZE] L = 5,000 3 & 11,370 | 3,630 7

LEERKELEEATERA=REHH



T I ¥ B £ i =®
No. 1 NO. 1
242.6 =EE L
£ i3 R ® 242.6 m Z i | REB=
AsEEERR MK )
SEYMT  [t=15cmLl T m 270.50 270.50 270
Coff iR )¢ )
MBI T t=15cmLL T m
AT IR )¢ )
SRR T [t=10cmLL T m2 159. 70 159. 70 160
Coff iR )¢ )
SEMRBHT [t=10cmLL T m2)
BHO. 28m3 )¢ )
BHMKRIET |5 - BBt - EL m3] 001 2.43 213 9
BHO. 28m3 )¢ )
BIERT B AREY BER (M3
BHO. 28m3 )¢ )
BHERT BoAmEY FEL M3
)¢ )
TEHHET  [RC-40 t=20cm m2
)¢ )
TE#ET  [RC-30 t=10cm m2
)¢ )
T ERET RM-30 t=12cm m2
BEBEHAS13m, AA )¢ )
BRE{REIR t=3cm m?2)
B AEHRIAS3mm, KA MK )
BEAEIR  [t=3cm m2 159. 70 159. 70 160
BT RAS20mm, HAR MK )
BREAEIR  [t=5cm m2 225.80 225.80 226
4tDT N )
BIOsT  |HEAs B m3| 0.01 2.43 2.43 2
4tDT N )
BEWHT  |HEAH  7A770b5E |m3 5.07 5.07 5
4tDT N )
EFrwsnT A avh)-bzk |m3
)¢ )
Z2AE TAI7WbER t 11.92 11.92 1.9
)¢ )
Z2AE hY-bsg t
e )¢ )
SEEMEIRT |H=2. On m
S )¢ )
RERT B rhi5cm m 52.10 52.10 52
m2 9.60 9.60 ) ( 10)
h-EET i m 8.00 8 8
B b 1-b I )
BWE-EHT ul 18.00 18.00 18
LA % )¢ )
BWE-EHT ul 2.60 2.60 3
(E.E) avhy-+ 18N m3 0.03m3/mx 2. 60= 0.08 0.1
(R.t) iz m2 0.135m2/mx 2 x 2. 60= 0.70 0.7
(R.t) HEBRA m2 0.425m2/mx 2. 60= 1.11 1

EBRESKEES EXEA=REHH




= =
T I % & 5 H £
No, 1
Brimk o = AKHEIH L= 242.6 m
Brisrs B = i
EEE = X X z /4 = 0000 m3/m
2R = X X =z /J 4 =
4.3 BREAEIH KEHEZ Im>40
% B 7 & #H oy # A W =

ARG T
ASEFEER t=15cmIL T SFEEHEEIY m 270.50
LA T
ASEFEEIR t=10cmIL T SFEEHEETLY m2 385.50
HEBAHE T. BHO.28m3
A BEE A 1.00 X 0.60 X 0.02 m3 0.01
PR EE T BHO.28m3
S NF D A m3 0.00
PR EIE T BHO.28m3
S NF D FEA A m3 0.00
FESAE T.(RC-30)
t=10cm m2 0.00
/B T (RM-30)
t=12cm m2 0.00
PR TE [H (AR As20mm, A7)
t=bcm SAERFEELY m2 385.50
FELHGT. 4DT mEl+ AL
FFAS L 0.01 — 0.00 0.90 m3 0.01
FEALHLG T 4DT
FEAD TAT7ap 385.50 X 0.05 0.01 X 242.60 m3 16.36
TN
TA7 7/ 16.36 X 2.35 ¢ 38.45

LEERAEKEES XM= [REHR




L. §_‘ % e
AYA ﬁ B % (5 %)
. TrE HE (KRB, EE) W N
N | IJ_:f =} > ~
1. 20 48. 4 = 40. 30 =1.20 ~ 1.20
NO. 0 20. 00 1.45 17. 4 =12.00 =1.70 ~ 1.20
1. 20 20.4 =17.00 Ik= 1.20 ~ 1.20
1. 20 13.0 = 10. 80 =1.20 ~ 1.20
NO. 1 20. 00 2. 40 23.8 =9.90 =2.40 ~ 2.40
NO. 2 20. 00 2. 40 48.0 | L=20.00 1k= 2.40 ~ 2.40
2.40 23.8 L=19.90 =2.40 ~ 2.40
NO. 3 20. 00 1. 20 7.2 L=6.00 =1.20 ~ 1.20
NO. 4 20. 00 2.90 23.8 [=8.20 1Ik= 2.90 ~ 2.90
NO. 5 20. 00
7 225. 8 L= 134.10 W= 1.68




VA - - 5 %)

e EE%&I@ - %?ﬁ%i% (ﬁrﬁé H;fzﬁié) ﬂ?w;j = W om

NO. 0 20. 00 1.30 17.4 | L=13.40 k= 1.30 1.30

NO. 1 20. 00 1.50 30.0 | L=20.00 Ik= 1.30 1.70

NO. 2 20. 00 1.55 31.0 | L=20.00 Ik= 1.40 1.70

NO. 3 20. 00 1.95 39.0 | L=20.00 Ik= 1.40 2. 50

NO. 4 20. 00 2.90 29.0 | L=10.00 (k= 2.90 2.90

NO. 5 20. 00 2.90 13.3 | L=4.60 1k= 2.90 2.90

G 159.7 | L=88.00 FEW= 1.81
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NO. 0
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)
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NO. 1

20. 00

31.50

F481 9.90
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Kl
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[k
oK Vi
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K
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2

AFHKEGSOMmMINER T HEHES

s £4Y:0.60m NO. 1
g H R
T £ _# R T % g EHE B _Z
HPPEF (S8% &)
FE L5 K2 ¢ 100 X ¢ 50 =
A =FAR=
TtOFA%E ¢ 250 &
LT
HEIFRAVY VR IR ¢ 250 X H150 @
[E1R
HEIFRAVY VR IR ¢ 250 X H40 @
[ #&50mm
55 SAKRERAATL | KTl SAERE100mm| E AT
FRKESR T(M T 4) @ 50mmPEP
AE ¢ 100mmHPPE | EHEIR4m=B L=2.6m| #FfF
FRKERIT(FI) ¢ 50mmPEP
AE ¢ 100mmHPPE | EEIR4m=B L=6.1m| FfF




LX)« a7k CRE : fe/KAE T RS EATER L R ¢ 100mmHPPE) — #4 T957%5

FKE O ¢50
Al HOE ETE | 1 2 & Bh| HAL [
Ao K AR I R PEP ¢ 50mm MERIER| 6.1 | 2.6 8.7 m
m
e 7 A A R B T 2 S PT
B
HPPE A (858K L)
31 sy AKAR ¢ 100X ¢ 50 1 1 2 I
)7 b=t g 650 1 1 &l
fEEIFRE 92 FAERA 1 1 il
fiigx T
1 £850mm
S KRR A A T B )3tV BB 100mn 1 1 2 1Pt
FRZKERE T (M T.4%) | ¢ 50mmPEP
A ¢ 100mmHPPE  |FE#EIF4Am=B 1=2. 6m 1 1 & T
FRZKEKE T (M T4%) | ¢ 50mmPEP
A ¢ 100mmHPPE  |FE#EIH4m=B 1=6. Im 1 1 & T
TR
BHO. 28m3
Aggfp k=T @O | mHiEHGE - H=0. 60 JER 4.6 4.6 m
BHO. 28m3
AR ET @ | iEHE - H=0. 60 LR 0.8]2.6 3.4 m




#=3

T I & E &£ & %
No. 1 NO.1T #KET @] N0.2 #KETI @
6.1 SER L 2.6 R L
% i iR % 6.1 2.6 m 5 = BENE
AsERZEhR ( )
LI T t=15cmELF m 2.00 12.20 2.00 5.20 17.40 17
Co&fiZE hix ( )
HEELIMT T t=15cmLAF m
AsEhZEhR ( )
EHEERRAERE T [t=10cmELF m2| 0.60 3. 66 0.60 1.56 5.22 5
Co&fiZ& hix ( )
SRR T [t=10cmEA T m2
BHO. 28m3 ( )
HHRIET B-mEL -MELm3] 0.37 2.26 0.38 0.99 3.25 3
BHO. 28m3 ( )
HERMIBERE T A fEES BAR 3] 0.15 0.92 0.15 0.39 1.31 1
BHO. 28m3 ( )
HERMIBERE T A fEES 4+ m3[ 0.09 0.55 0.16 0.42 0.97 1
( )
TERET RC-40 t=20cm m2
( )
TERET RC-30 t=10cm m2| 0.60 3. 66 3.66 4
( )
LERET RM-30 t=12cm m2| 0.60 3. 66 3. 66 4
( )
LTERET RC-30 t=10cm m2 0.60 1.56 1.56 2
BAZHAs13m, AS ( )
BmEiREIE t=3cm m2| 0.60 3. 66 0.60 1.56 5.22 5
B A MAS13mm, H ( )
EREAEIE t=3cm m2
BAHHAs20mm, ( )
EREAEIE t=bcm m2
4tDT ( )
BEirasT FAH W m3] 0.31 1.89 0.24 0.62 2.51 3
4tDT ( )
BEirasT FEAH  TAIThEER [m3]  0.03 0.18 0.02 0.05 0.23 0.2
4tDT ( )
BRiusT BAH  IvhY-+3%  [m3
( )
ZAE TAI7 bR t 0.07 0.43 0.05 0.13 0.56 0.6
( )
ZAE vhY- ek t
LERKELEES T EA=IREHFAT




¥=K5

I &% B ft & E
No, 1
Brm s = kLT @ L= 61 m
Briais ff = B #E  $50 H=0.6m
gErEE = 0060 X 0060 X x = 0.003 m3/m
= B kR = X X z /J
Im2%9
%5 - o & W =
IR T
AsEFEER t=15cmIL 1.00 X 2 m 2.00
TAEI R 1
AsEFLER t=10cmId 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
- A - FEE - 1.00 X 0.60 X( 0.66 0.05 ) m3 0.37
TR 1. BHO.28m3
KONGRS AR 1.00 X 0.60 X 0.26 — 0.003 m3 0.15
HEpE RS T, BHO.28m3
SN A 1.00 X 0.60 X 0.15 m3 0.09
TIE S T (RC-30)
t=10cm 1.00 X 0.60 m2 0.60
/BB T (RM-30)
t=12cm 1.00 X 0.60 m2 0.60
BT H (A #57As 1 3mm, A7)
t= 3cm 1.00 X 0.60 m2 0.60
FEL T 4tDT e+ WAL
FFAS 1 0.37 — 0.09 = 0.90 m3 0.31
FEAHG T 4DT
FFAZ TR 7R 1.00 X 0.60 X 0.05 m3 0.03
ZAE
FAT 7P 0.03 X 2.35 ¢ 0.07

LERKELEESEREA=IREHHR



¥=K5

I &% B ft & E
No,2
BrEm s = kLT O L= 26 m
Bt = A ¢ 50 H=0.6m
EHE = 0060 X 0060 X x / = 0.003 m3/m
= B kR = X X z /J
Im2%9
%5 - o & W =
IR T
AsEFEER t=15cmIL 1.00 X 2 m 2.00
TAEI R 1
AsEFLER t=10cmId 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
- A - FEE - 1.00 X 0.60 X( 0.66 0.03 ) m3 0.38
HEpE RS T, BHO.28m3
KONGRS AR 1.00 X 0.60 X 0.26 — 0.003 m3 0.15
HEpE RS T, BHO.28m3
SN A 1.00 X 0.60 X 0.27 m3 0.16
LB REAE T (RC-30)
t=10cm 1.00 X 0.60 m2 0.60
BT TE H (A 457 As 1 3mm, A7)
= 3cm 1.00 X 0.60 m2 0.60
FEL T 4tDT el WAL
FFAS 1 0.38 — 0.16 = 0.90 m3 0.24
FEAHG T 4DT
FFAZ TR 7R 1.00 X 0.60 X 0.03 m3 0.02
ZAE
FAT 7N 0.02 X 2.35 ¢ 0.05

LERKELEESEREA=IREHHR



2

BERVP & 100mmBkERET HMEFES

maEE WneSEY LY H=1.00m~1.40m NO. 1
E H R
I £ _# E® T & H % & | gyE E_Z
FE
B ERET VP ¢ 100 m 132.1 132.1 = 1321
BEE%
BEEREVIM T EEE ¢ 100 o 44 132.1 = m
BRHUAERET iz 1 1 = 1
WEEERDE BEE B 1 1 = 1
ERELS BEE t 1 045 = 05
T THERES
TEEE
TI® BMESVP H=1.0m | m 1177 - 117.7 = 1117
TEEE &
+I® BWEEVP H=14m | m 40 - 40 = 40
S E
TI® BMESVP H=1.0m | m 104 - 104 = 104




T T #® B %R

#=3

No. 1 NO.7 *TI® [ N8 FTI(® [ N9 FTI®
7.7 =EE | 40 =HEEL | 104 =EEL
E 7 & & 7.7 m 40 m 0.4 m 5 it | BERE
AsEhZERR (
SEYMT  |t=15cmU T m 2.00  235.40 2.00 8.00 2.00 20.80 264. 20 260
CoffZEhi (
BV T t=15cmLA R m
AsEhZEhRR (
SHERREHET | t=10cm T m2 0. 60 70. 62 0.90 3.60 0. 60 6.24 80. 46 80
CoffiZEhi (
SHEERREEFE T [t=10cmEL T m2)
BHO. 28m3 (
HEHERIET (R - BhEE - MBS (md 0.63 74.15 1.31 5.24 0.64 6.66 86.05 90
BHO. 28m3 (
HEIBERT |5/ @E» B4R [nd
BHO. 28m3 (
BHEET |2 @@ fE+ [n3 0.52 61.20 1.14 4.56 0.59 6.14 71.90 70
(
TRERET RC-40 t=20cm m2)
(
FTEHEET  |RC-30 t=10cm m2 0.60 70. 62 0.90 70. 62 71
(
FEEET  |RM-30 t=12cm m2 0. 60 70. 62 0.90 70. 62 71
(
FEBET  |RC-30 t=10cm m2 0. 60 6.24 6.24 6
BAEBERASIIM, AN (
BERAEIR  |t=3cm m2 0. 60 70. 62 0.90 3.60 0. 60 6.24 80. 46 80
B AEMRIAS3mm, KA (
BREAEIR t=3cm m2)
BT RAS20mm, HAR (
BREAEIR t=5cm m2)
4tDT (
BERWST  |#EAH B m3 0.12 14.12 0.19 0.76 0.06 0.62 15.50 20
4tDT (
BEWST  [HAH  7RI7hEER |m3 0.03 3.53 0.05 0.20 0.02 0.21 3.94 4
4tDT (
BrosT EiAH  3v))-+5E |m3
(
ZAR 72770 bER t 0.07 8.24 0.12 0.48 0.05 0.52 9.24 9.2
(
ZAE WhY-b% t
mEl £m (
BEMERT [H=2. On m 1.00 4.00 4.00 4.0
(
(
(

RBRKERSEES R RE=REBH




¥=K5

T I &% E M B E
No, 7
Wrim# s = 110 L= 117.7 m
Brieis B = B FEEGE) 100 H=1.0m
EHE S = 0130 X 0130 X x / 4 = 0.013 m3/m
=R = X X  J 4 =
Im2%9
%5 i H = o & i =
AHAEGI T
AsEFLER t=15cmIL 1.00 X 2 m 2.00
BHLEIR AT
AsEFLER t=10cmId 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
LB A B A 1.00 X 0.60 xX( 1.12 — 0.05 )- 0.013 m3 0.63
HEpE RS T, BHO.28m3
SN A 1.00 X 0.60 X 0.87 m3 0.52
TIE S T (RC-30)
t=10cm 1.00 X 0.60 m2 0.60
/BB T (RM-30)
t=12cm 1.00 X 0.60 m2 0.60
BT TE H (A 457 As 1 3mm, A7)
t= 3em 1.00 X 0.60 m2 0.60
FEL T 4tDT el WAL
FFAS 1 0.63 - 0.52 = 0.90 m3 0.12
FEAHG T 4DT
FFAZ TR 7R 1.00 X 0.60 X 0.05 m3 0.03
ZAE
FAT 7/ 0.03 X 2.35 ¢ 0.07

LERKELEESEREA=IREHHR
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¥=K5

No,8
N i S A ) L= 4.0 m
Briais B = B FEEGE) 100 H=1.4m
BB = 0130 X 0130 X x / 4 = 0.013 m3/m
=R = X X  J 4 =
Im2%9
%5 i H = o & W =
AHAEGI T
AsEFLER t=15cmIL 1.00 X 2 m 2.00
TAEI R 1
AsEFLER t=10cmId 1.00 X 0.90 m2 0.90
FEr AR 1. BHO.28m3
LB A B A 1.00 X 0.90 xX( 1.52 — 0.05 )- 0.013 m3 1.31
HEpE RS T, BHO.28m3
SN A 1.00 X 0.90 X 1.27 m3 1.14
TIE S T (RC-30)
t=10cm 1.00 X 0.90 m2 0.90
/BB T (RM-30)
t=12cm 1.00 X 0.90 m2 0.90
BT TE H (A 457 As 1 3mm, A7)
t= 3em 1.00 X 0.90 m2 0.90
FEL T 4tDT el WAL
FFAS 1 1.31 - 1.14 = 0.90 m3 0.19
FEAHG T 4DT
FFAZ TR 7R 1.00 X 0.90 X 0.05 m3 0.05
ZAE
FAT 7/ 0.05 X 2.35 ¢ 0.12
RGN RA T
T E H=2.0m 1.00 X 1.00 m 1.00

LERKELEESEREA=IREHHR
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T I #% E BH & E
No, 9
Wrim# s = 118 L= 104 m
B = i AERE) ¢ 100 _H=1.0m
EHE S = 0130 X 0130 X x / 4 = 0.013 m3/m
=R = X X  J 4 =
Im2%9
%5 i H = o & i =
FELS7)
AsEFLERR t=15cmbL T 1.00 X 2 m 2.00
AR T
ASEFLERR t=10cmld T 1.00 X 0.60 m2 0.60
FEr AR 1. BHO.28m3
b A - B A 1.00 X 0.60 xX( 1.12 — 0.03 ) 0.013 m3 0.64
HEpE RS T, BHO.28m3
SN AL 1.00 X 0.60 X 0.99 m3 0.59
LB BAE T (RM-30)
t=10cm 1.00 X 0.60 m2 0.60
B BT IRTE H (A 457 As 1 3mm, A )
= 3cm 1.00 X 0.60 m2 0.60
FEL T 4tDT el WAL
HErA 15 064 - 0.59 =+ 0.90 m3 0.06
FEAHG T 4DT
FERE TR fEE 1.00 X 0.60 X 0.03 m3 0.02
ZALF
FRI 7 b 0.02 X 2.35 ¢ 0.05

LERKELEESEREA=IREHHR
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